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QUESTION 1

Which two tasks can be performed in the NOMOUNT state? (Choose two.)

A. re-creating control files

B. full database recovery

C. enabling online redo log archiving

D. renaming data files

E. creating a database

Correct Answer: AE

Reference: https://books.google.com.pk/books?id=82Vbdt-nZAgCandpg=PAlllandlpg=PAlllanddg=oracle
+tasks+can+be+performed+in+the+NOMOUNT
+stateandsource=blandots=24tpIWNnOvandsig=ACfU3U39HPOusj4np24T_hi0d1J8AK8yQwandhl=enandsa=Xandredir_

esc=y#v=onepageandqg=oracle%20tasks%20can%20be%20performed%20in%20the%20NOMOUNT%
20stateandf=false

QUESTION 2

EMP_IDX is an index on the EMP.ENO column. EMP and EMP_IDX reside in the TBS1 tablespace. During an INSERT
into EMP, you get this error:

ERROR at line 1:
ORA-01654: unable to extend index USERS.EMP IDX BY 8 1n tablespace TBS1

Which two actions would you take to correct the space problem in TBS1 without affecting uncommitted transactions on
EMP? (Choose two.)

A. Drop and re-create EMP_IDX.

B. Coalesce EMP_IDX.

C. Shrink EMP.

D. Rebuild EMP_IDX online in a tablespace with sufficient space.
E. Shrink TBS1.

Correct Answer: AB

QUESTION 3

Which two are true about instance recovery? (Choose two.)
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A. It is guaranteed to complete within fast_start_mttr_target number of seconds.
B. Archived REDO log files are required to perform instance recovery.

C. The database opens after the roll forward phase of instance recovery.

D. It is performed when mounting a database.

E. Archived REDO log files are never required to perform instance recovery.

F. It occurs after a SHUTDOWN IMMEDIATE.

Correct Answer: AC

QUESTION 4

Examine these commands: What is the expected result?

SQL> DESC ul.emp

Name Null? TYPE

EMP ID NUMBER
ENAME VARCHARZ (3)
SAL NUMBER
SQL> exit

([oracle@host0l ~]$ cat emp.dat

1,Ben, 2000
2,Alan, 3000
3,Kevin, 4000
4,8am, 5000

[oracle@host0l ~]$§ sglldr ul/cracle table=emp

A. It fails because EMP.DAT has some records with more than three characters corresponding to UL.EMP.ENAME.
B. Only the first row in EMP.DAT is inserted into UL.EMP.
C. Only the first and fourth rows in EMP.DAT are inserted into U1.EMP.

D. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to ### for the second and third rows.
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E. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to NULL for the second and third rows.

Correct Answer: D

QUESTION 5
DATADIR1 and DATADIR? are database directory objects.

Examine this command: Which two are true about the expdp operation? (Choose two.)

[oracle@host0l ~] expdp system/oracle \

FULL=y \

DUMPFILE=datadirl:full%U.dmp, datadir2: full2%U.dmp \
FILESIZE=2G \

PARALILEL=4 \

LOGFILE=datadirl:/expfull.log

JOB NAME=exzpfull

LA " A A A

A. It creates a dump file for the entire database.

B. It fails if the total size of the dump file is more than 2 GB.

C. It creates a dump file only for objects in the SYSTEM schema.
D. It creates a master table to store details of the export operation.
E. It starts only when four worker processes are available.

Correct Answer: AE

Reference:
https://docs.oracle.com/database/121/SUTIL/GUID-1E134053-692A-4386-BB77153CB4A6071A.htm#SUTIL887

QUESTION 6

In a database, the default temporary tablespace is TEMP and USER1\\'s default tablespace is DATA. Examine these
parameters:
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NAME TYPE
TEMP_UNDO_ENABLED boolean
UNDO_MANAGEMENT string
UNDO_RETENTION integer
UNDO_TABLESPACE string

VALUZ
TRUE
AUTO
900
UNDOTBS1

Which tablespace stores UNDO generated by USER1\\'s DML on temporary tables?

A. DATA

B. SYSTEM

C. SYSAUX

D. TEMP

E. UNDOTBS1

Correct Answer: D

QUESTION 7

Your database instance was shut down normally and then started in NOMOUNT state. You then execute this

command:

ATL.TER DATABASE MQOQUNT;

Which two actions are performed? (Choose two.)
A. The control file is read.

B. The online data files are opened.

C. The online redo logs are opened.

D. The Oracle background processes are started.
E. The alert log records the execution details.

F. The initialization parameter file is read.

Correct Answer: AD
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QUESTION 8

The SCOTT/TIGER user exists in two databases, BOSTON_DB and DALLAS_DB, in two different
locations.

Each database has a thsnames.ora file defining DALLAS_DB as a service name.

Examine this command:

CREATE DATABASE LINK dblinkl CONNECT TO scott IDENTIFIED
BY tiger USING ‘dallas db’;

How do you execute the command so that only SCOTT in BOSTON_DB can access the SCOTT schema in
DALLAS_DB?

A. as SCOTT in BOSTON_DB

B. as SYS in both the databases

C. as SCOTT in BOSTON_DB and SYS in DALLAS_DB
D. as SCOTT in both the databases

E. as SCOTT in DALLAS_DB

Correct Answer: D

QUESTION 9

Which two are true about RETENTION GUARANTEE? (Choose two.)
A. It is a tablespace attribute.

B. It prevents FLASHBACK DATABASE operation failure.

C. It prevents out-of-space errors.

D. It prevents "Snapshot too old" errors.

E. It is a static parameter.

Correct Answer: AB

QUESTION 10

Your client application and Oracle database are located on different hosts. Which statement is true about establishing a
connection between them?
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A. Oracle Connection Manager must be installed on the client.

B. Net service names must be configured on both the client and database servers.

C. The Listener Control utility must be installed on the client if you are using the default listener on the server.

D. Only Oracle Net can be used.
E. Oracle Net Listener is required.
Correct Answer: D

Reference: https://docs.oracle.com/cd/E25178_01/server.1111/e25789/dist_pro.htm

QUESTION 11

Which is a machine image in Oracle Cloud?

A. the number of OCPUs and amount of memory allocated to an instance

B. the physical persistent block storage space allocated to an instance

C. the number of OCPUs, amount of memory, and persistent block storage space allocated to an instance
D. a template of a virtual hard disk of specific size without an operating system installed

E. a template of a virtual hard disk of specific size with an installed operating system

Correct Answer: E

Reference: https://docs.oracle.com/en/cloud/iaas/compute-iaas-cloud/stopc/machine-
image.html#GUID3CE8D227-81EC-43EF-A80B-B6D3380ED526

QUESTION 12

Which statement is true about an undo tablespace created using the Database Configuration Assistant (DBCA)?

A. It contains undo only for uncommitted transactions.

B. It is used for the FLASHBACK TABLE...TO BEFORE DROP operation.
C. It can be recovered while the instance is open in READ WRITE mode.
D. It must be a smallfile tablespace.

E. It is a locally managed tablespace.

Correct Answer: AD

QUESTION 13
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Which two are segment types? (Choose two.)
A. table partition

B. materialized views on a prebuilt container
C. stored procedure

D. sequence

E. table

F. view

Correct Answer: AE

Reference: http://www.adp-gmbh.ch/ora/concepts/segments.html

QUESTION 14

Which two are responsibilities of an Oracle DBA regarding database availability, backup, and recovery?

A. decreasing Mean Time Between Failures (MTBF) by configuring FLASHBACK mode

B. implementing FLASHBACK DATA ARCHIVE to decrease MTBF

C. ensuring that critical components are protected by implementing redundancy

D. decreasing Mean Time to Recover (MTTR) by configuring FLASHBACK mode

E. implementing FLASHBACK DATA ARCHIVE to decrease MTTR

Correct Answer: CD

QUESTION 15

Which three failures require intervention for recovery? (Choose three.)
A. a user error such as dropping the wrong table

B. network interface card (NIC) failure

C. user process failure

D. statement failure

E. media failure

Correct Answer: ACE
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